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As it is written; ‘and all liquids which are drunk’

Overview

The X1 discusses what is meant by saying that Ppwn nann PR PYIIX are part of
the 727 n™; if the 7pwn became Xnv by touching a y W and then these Ppwn
touched 12218 that is a RN7RTA IRAW, as is written 92 922 7w WR pwn 99
xnv°,' so how can it be part of the 127 1" N1,

- 199 MIN YPa NONN XIY NHNNM PRAN PPYUNI 39N 599 NNNM PNID PPYUNA XIP IND
This pep of "3 apwn 901 is discussing P pw, which became X0 on account of a
vessel (which became &nu through a 'r'nzz)z, and we derive YW nRRR PR PPRR
from 72 nnn 1°Ra7 PPwn through a v'p.

nooIN asks:
- 311‘1)9 mrny a2 NaAY 197 N1 11300 NNYINT 7299 NI 9IND ON)Y

And if you will say; but what is the s'x7n3 question that the 7pwn2a RPVIY 19928
TIW Nnma PPRAT IS RNMINTA 72170 D0W; it is not so, for we should say 2 Nab 17

NT7ID NPT P -
- 712999 5509 NY 112 PPN PYAINY 999 NNNM PRAN PPYND 2IY NIN 195 N

And so the yaw nnrn 1R2a7 PPwn should only be a siw just like the 9827 Ppwn
B2 nann, so the 1928 which touched these Ppwn (which are a *1w), will not »o»
N"77 7MY90 (since the P92 are not a XNPNRTA "1w)!

L w0 (C1nw) xp.

* The 2°pI00 in T9-32 ,X° XIp™ state, 2K WK 22K7 997 T2 17200 iKY Xaw? 92102 WK 95 1210 9% n 997 W 10 °93 92)
XY °93 202 NY WK TRWn 921 Xpw> 031 VY Ri2 . The words onn 9190wk refers to a yow which fell into a 0717 995
(like an oven). When a dead yw (which is an nxmw7 aR) falls into (the air space of) a 077 93, the > becomes a
TRMIY PR, and the (P22 or) 1pwn inside the 091 %95 (the 12102 WK 93) also become Rnw (they are a AxML? "W).
This is what is meant by 25 nann 1°827 1°pwn. The Xna (in 2,n° o°'nod) derives that if >25 mama 19827 1°Pwn which is X2
YW nnn is Xno, then certainly yw ninn 1X27 Ppwn (where the 1pwn touched the yaw directly) are also Xnv.

? 1730 P P T2 K27 17 means that if we derive a ruling from an original ruling, the derived ruling cannot be more
powerful than the original ruling. Regarding y2w nnnn X2 1pwn, we derived that they are Xnv, from  7Ra7 Ppwn
"9 nnnn (see previously and footnote # 2). °25 nnnn PRIT Ppwn are only a " (the *2> is the NWwXA), therefore
following the rule of 7, the YW nnnn 1PRa7 Ppwn (which was derived from 95 niann PRI Ppwn) can seemingly also
only be a "1w.

* If the (yaw nnann o°Ra7) Ppwn are a M (see footnote # 3), the 179218 that touch them do not become XN»MRTA KL
for a "1 cannot make a *w’%w by 121, so therefore these 17218 cannot be n'"an w0 How. [It is only 712772 where
they were pnn that 7°0n neah Ppwn RV IMIONT DR 90197 93, so the 1Pwn become a 13277» PWRI and the %92
which touched them become a 1312771 "1, so the 172X can be 112777 772170 Y010, but not n'"71.]
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Mo0IN answers:
£ SNOINN (ow nt oy DINDIT NIPP PI93) PYN RN NOY NIV ¥ 927 PPNT 91290 U

And one can say; that there is no such thing that touches a Y@ and is not a
MR (anything which touches a y% must become a 1WwX7); therefore the 7Ppwn
YW nnnn must be a WX [notwithstanding the 17 rule’]. And I have elaborated
on this at length in the first P2 of 2°rop non.’

Summary
We cannot say 17 so that y7w nnnn Ppwn should be a "1w, since we know anything

which touches a v is always a TwX".

Thinking it over
Why should the common knowledge that WXI X7> ROW ywa vaug D27 PR,

outweigh the rule of 7?! Perhaps here is the exception to the common
knowledge!’

3 If we would implement 17 here and insist that YW nnnn X273 Ppwn are a 1w it would be in contradiction to the
accepted understanding that whenever something touches a v it becomes a 17wX". See ‘Thinking it over’

6 See 17 171"7 '010 2,n° ONOD

7 See mnnm MR (1").
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